Elasticity


Everyday businesses work hard to produce products for consumers. Firms are interesting in whether consumers will respond in small ways or very large ways to a change in price.


Elasticity measures the response in changes to variables. The degree of a response decides how much to produce and for how much.


On the graph, prices on the higher end of it are %∆Q > %∆P (greater than one). If a price is represented in the middle, it is %∆Q + %∆P (equal to one). If a price is represented at the end, closer to quantity, it is %∆Q < %∆P (less than one). If a product is on the higher end, that means that there is not a lot of product, there fore, the price is raised higher. That is also known as elastic. If a good is on the lower end of the graph; that means that there is a high amount of quantity, so the price is lowered to “get ride of it.” This would be an example of a good being inelastic. 


If a company sets the price higher, sales revenue decreases, but if a company sets the price lower, the sales revenue increases since people respond to cheaper products. If a company sets a price in the inelastic part of the curve, and chooses to decrease the price, then the business looses revenue. When a product is inelastic, the logical thing to do is raise the price, which increases sales revenue. You see, it can’t be too high or too low or the sales revenue will be decreased. If something is on the unitary elastic curve, the sales revenue doesn’t change no matter if the price is increased or decreased. How fast a company can change quantity supplied represents elasticity. 


The average American eats 64 pounds of beef per year, which really helps fast food companies with over $100 billion per year. To reach consumers on a higher levels, fast food restaurants like Sonics tries to provide a more diverse menu that offers more than the normal fast food restaurant like Mc Donalds. 

Usually, whether or not people get fast food is in direct relation to their jobs. If someone makes a lot of money at their job, they’re not going to be buying a lot of fast food everyday. If someone doesn’t make that much money and is in a rush most of the time, a $1 hamburger is fast, easy to eat, and cheap. 

Market presence is increased in a number of ways. One strategy is the expansion into non traditional units of operation.


Viagra was an incredible medical breakthrough that helps out men with erectile dysfunction. Despite the high price for the pills, about $9 to $15 per pill, most people still pay for it because they need it. Less than 50 % of companies pay for tablets because they don’t believe it to be so much of a medical need, but more of a lifestyle need. Most companies only pay for medical prescriptions and treatments, not lifestyle ones. 

There is a vicious cycle concerning water and electricity. Creating dams to provide more electricity and more water, runs down the salmon supply and makes it hard for the salmon to spawn and complete their cycle of life. In turn, people have been setting up breeding stations for salmon to protect them, which in turn, has been using a lot more water and electricity. 
